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Corrigé de I'exercice 1

Compléter :
1 60 6 1 9 ) 4
b1 08 8 3. - =10 b5 o 20 b7, o8 40
Ixg) T2 90~ 9x10) 16 8(xy 10(xs) 80
4 ) 10 1 12 6
b2, 12203 pa, 02D _ T b6, o 108 b8, - = 2
21 T(x3) Ixz) 18 56 T(xs) 4 200
Corrigé de I'exercice 2
Compléter :
7 3 8 1
b1, 08 56 3. o020 30 5 20 Se5) b7, O 09
6(xs) 48 9(x10) 50 25 S(xs) 81 9«9
7 3 ) 10
po, b 28 pa, 24 20 G, 208 10 pg, 20 D
Ixa) 36 56 Tixs) Ing) 72 36 9
Corrigé de I'exercice 3
Compléter :
7 7 14 6 10
b1, 2 o) b3 2 2 b5 2202 b7, 08 _ 80
24 8(x3) 2(xz) 4 16 8(x2) Tixs) 56
2 1 ) 10
b2, 0 _ 20 b4, o 10 po, 209 _ 20 by, 9 _ 90
20 4(xs) 36 9(xa) 2(x0) 18 Ixo) 81
Corrigé de I'exercice 4
Compléter :
3 8 3 10
b1, 27 _ 209 b3, B _ S0 b5, 20 - 209 b7, 08 _ 30
90 10(x9) 24 4y 72 8(xg) 4(x3) 12
1 2 6 24 2 48 6
po. 2 _ 2 g, 0D = b6, O 208 8. — = 8
Ix2) 18 8(xa) 32 18 63 2 9xg)
Corrigé de I'exercice 5
Compléter :
4 ) 12 2 4 9 4 8
b1, 25 _ 200 »3. - = X0 b5 20 _ 20 b7, 3B _ C06)
36 4(xo) 18~ 3(xg) 25 B(xs) 60— 10
81 9 6 60 42 7 1
b2, o= 9 pq, 010 2 b6, - = X0 by, 208 _ 8
45 B(xy) B(x10) 50 12 2 B(xg) 24
Corrigé de I'exercice 6
Compléter :
24 3 8 72 10 7
Pl =08 »3. U 2 b5, 08 B0 b7, 09 03
64 8y 4(x9) 36 8(xg) 64 A(xo) 36
64 8 4 24 12 4 7 4
b2, o =8 b, O = ) by, D _ B
72 9xg) B(xe) 30 6 2(x3) 10,7y 70
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